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past studies , the standard deviation is

known to be 1 . 5 years ,
and the

population is normally distributed.

construct a 95 % confidence interval for

the population mean age.-
n = 20 M => * = E
X = 22 .9

I

G = 1 . 5 I E : E* 1 .96
= 0 . 657

CI = 0 . 93 I
S 0 . 95 = 1 - x-

0 . 05 = X
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p= n(P ,)

↳
ExampleC suppose that 10 % of certain population are

defective
. If 400 items are drawn from the

production, shat is the probability that the sample
proportionsill be : P= 0 . 10 -In 10 . 10,0n = 100 I

A) more than 12%

Cp(p > 0 . (2) =Plz
= P(z) 1 .33)
= 0 . 0918

B) Between 9 % and 11 %

= P(0 . 09 <>0 . 11)



= P(pc0 .1) - P(p<0 . 09)

-P
j

O suppose that 90 % of the university ofExample
Jordan students pass calculas 10). In a sample

of 200 students taking Calculas 10)
,
shat is the

probability that the proportion of those sho

sill pass is less than 85 %

P= 0 .90
= P(p<0 . 85)

n = 200

=Plz9(
= P(z) - 2 . 36) -
= p(z< 2 . 36)

T

-
-

= 0 . 0091
↑I









1 - 2 = 0 .90

a = 0 . 10

E = 0 .S

0 . OS⑪
E.

busi, 0 . 90

bus

(0 . 6 - 0 . ou
,
0 . 6 + 0 . ou)

10 . 5639
, 0 . 64)
---

* finding the sample Size :

(n)

& for mean (I known

② For proportion



① for the mean (6 known

E =+ = n =[
---

&Example A researcher sants to estimate

the average
seight loss of people sho

are in a new dief plan . In previous

study, the population standard
deviation

& of a seight losses is about 5116,

should be to estimate
How large a sample

the mean seight loss by a 95 % CI

to within 1 . 5 KGs ?

0 = 5 n =()
n = 3

CI = 0 . 9S = (6) * 5 =u2 .68





↑(I =↑(1 - c)
-

O shick of the following Confidence
Example

level produce the sidest Confidence
internal

a) 90 % b) 95 %

c)98% D) 99 %

↑ (l - c) =4CI Ane
. D

- :
--

G

NOTE

① As sample Size n increase,

the length of CI decrease
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(d - = ,
d + z)

#8- 3 . 266
,
1 . 8 + 3 . 266)

d 3 - I 2 3 I Ed=f

d' 9 I U & I sdE zu

1) construct 95 % confidence interval for

the mean difference. i = = 1 . )

I M
= + E 52 [d" 12d)

CI = 0 .

93 - An- 1)
n = 5

E = +z *-
= 2

. 8

- S = 1 . 67u

E = 2 . 776*=2 . 07

1 - 2 = 0 .93 ~fu
c = 0 . 05

-

0.97s/&0.
E = 0 . 025

- 2 . 776 2 . 776









NOTE degree of freedom

=n+ m - 2

-

test of Hypothesis
(2 samples

S7
4, known

% G

zi-c)- (M .
- Mc) unknown

⑮
n

t= Xi (2) - (M .-Mr)

Sp

Sp=(m-1)5n + m- 2
















